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® ma+mb—-m=m(a+b)
@)644? + 32ab + 4b* = (8a + 2b)°
® —4a® + 9b> = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x-2)(x-3)

© 2x% = 5xy + 3y* = (x = 3y)(2x -~ y)

B

O ma+mb-—m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x%-5x-6=(x—-6)(x+1)
® 2x® - 5xy + 3y* = (2x - 3y)(x ~)




DO x*-6x+9 @ 4x* + 16x + 16
1 1
@x2+§x+2—51 @ x*+2xy+y?
2 - 2
® x + 30+ 5oy

D x2-6x+9=(x-3)2
@ 4x* + 16x + 16 = (2x + 4)?
@ x2 +2xy + 1y? = (x + y)?

® 2+ +i2—<x+1)2
3 gg) = &




3. Ax*-24xy +16y* = (3x + By)* € W, A+ B 2 k= Fokefet

> E

> Hg:. A+B=5

&8

Ax? — 24xy + 16y = (3x + By)? o| B2
(3x+ By)? & AT AL Ax? - 24xy + 16y2 9} Zolo} Gk,
(3x + By)? = 9x + 6Bxy + B?y?
= Ax? - 24xy + 16y?
A =901, 6B=-24 0|22 B = —4 oJt},
w2 A+ B =9+ (—-4) =5 o|tt.
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@ 3x2-2x-8=(x+A)(Bx+4)

© 4x* +Cx-3=(2x-1)(2x-D)
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@ 3x2-2x-8=(x—2)(3x+4)

LA=-2,B=3
©4x2+Cx-3=(2x-1)(2x+3)
.C=4,D=-3

A=-2, B=3,D=-3, C=4°|B2 7}F & A5 H 2o
2 AW C, B, A, D °|t}.




